
(1)(1)

(7)(7)

(13)(13)

(12)(12)

(18)(18)
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(16)(16)

(14)(14)

(15)(15)
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2+3^4;
83

x+x;

expand((x+4)^2);

x := 4;

x;
4

x+x = 2*x;

{1,1,2,3,5} intersect {5,6,7};

li := [1,1,2,3,5];

li[4];
3

sin(Pi);
0

restart;

li;
l i

x := 4;

x := 'x';

x;
x

alias(s=sin(x),c=cos(x));

sin(x)*cos(x);

alias(J=BesselJ);

diff(BesselJ(n,sin(x)),x,x,x);



(18)(18)

(24)(24)

(19)(19)

(25)(25)

(22)(22)

(23)(23)

(27)(27)

(21)(21)

(20)(20)

(26)(26)

restart;

f := x -> sin(x);

f(Pi);
0

diff(f(z),z$4);

z$4;

li := [seq(i^2,i=1..4)];

sum(i, i=0..n);

add(i, i=0..100);
5050

add(i, i in li);
30

Sum(i, i=0..n);



(33)(33)

(28)(28)

(18)(18)

(34)(34)

(30)(30)

(31)(31)

(32)(32)

(29)(29)

int(sin(x), x);

Int(sin(x), x=0..Pi);

evalb(evalf(sqrt(5) < 2));
false

evalb(8=8);
true

eval(sin(x)/x,x=0);
Error, numeric exception: division by zero

subs(x=0,sin(x)/x);
Error, numeric exception: division by zero

?index,packages

with(LinearAlgebra);

LinearAlgebra[RandomMatrix](2);

A := Matrix([[2,3,4],[3,5,7],[4,5,8]]);



(28)(28)

(18)(18)

(34)(34)

(40)(40)

(39)(39)

(42)(42)

(36)(36)

(41)(41)

(35)(35)

(37)(37)

(38)(38)

b := Vector([4,8,6]);

A.b;

<A|b>;

for x by 2 from 1 while x<6 to 10 do print(x); od;
1
3
5

x := 4;

x := "string";

fib := proc(n::nonnegint)
  option remember;
  local x,y,z;
  if n<2 then 
    return(n);
  else 
    return(fib(n-1)+fib(n-2));
  fi;
end:

[seq(fib(i), i=0..10)];

fib(50);
12586269025

fib(z);
Error, (in fib) cannot determine if this expression is true or 
false: z < 2



(28)(28)

(18)(18)

(43)(43)

(34)(34)

(44)(44)

fib(-1);
Error, invalid input: fib expects its 1st argument, n, to be of 
type nonnegint, but received -1

1

print(factor);



(28)(28)

(18)(18)

(34)(34)

(44)(44)



(28)(28)

(18)(18)

(34)(34)

(46)(46)

(44)(44)

(45)(45)
interface(verboseproc=3);

1

print(diff);



(28)(28)

(18)(18)

(47)(47)

(34)(34)

(44)(44)

(46)(46)

op(1..3,a+b+c);

dismantle[hex](x-2*y^3);

SUM(1C5D08CC,5)
   NAME(815115C,4): x
   INTPOS(3,2): 1
   PROD(1C5D7FF4,3)
      NAME(81C955C,4): y
      INTPOS(7,2): 3
   INTNEG(FFFFFFFD,2): -2


